Resistor Example 
For the circuit below you should use theory (equations/formulas) to find the current passing through the 2.05-k( and 3.40-k( resistors as well as the voltage drop across them.  Show your equations or explain your logic (you can attach sheets if you don’t want to type out algebra).  Then simulate the circuit in Electronics Workbench with voltmeter(s)/ammeter(s) in the appropriate places and verify your results.  Paste into your report document a copy of the circuit with a meter reading out at least one of the desired. (Or print it.) 
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